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SEHUEE 2L JFAE(Y) ‘HEOE 2t It A X0l &(%)
HEANZ | 5 | HOE | SSM HEANF | #stE SSM
(A) (B) (C) (D) (A—C)/A*100 | (B-C)/B*100 | (D-C)/D*100
118,820 133,451 116,191 124,189 2.2 12.9 6.4
(=27t =X
SEAEY B3 THORIIA(A A-B-C-D2}
ZES2g(Zu7U 72) HE A il HE0tE SSM | 10-2| A
(A) (8) C) (D) HA (%)
£ 2(3009) 1,237 1,847 2,064 1,831 40.1
Al21 2 (5009) 4,005 6,513 4,613 5,285 38.5
=22H(1800ml) 2,538 3,654 2,406 2,313 36.7
A4 2(1000ml) 746 732 581 509 31.8
=2:(1000g) 2,858 3,286 2,327 3,366 30.9
8(100g) 2,957 2,553 2,214 3,023 26.8
& E(1000g) 2,501 2,914 2,205 2,138 26.6
A2 2(900ml) 3,742 4,220 3,254 4,388 25.8
=X 8H210g) 1,099 1,414 1,189 1,463 24.9
21 Z(320ml) 5,401 6,902 6,707 7.106 24.0
A Al XI(400g) 6.515 7,945 6,153 6,678 22.6
Or2H(400g) 2,660 2,930 2,300 2,604 21.5
UIFZ(1000g) 1,440 1,540 1,279 1,593 19.7
Ciag) | 2122 (1807H) 20,440 24,067 19,623 20,197 18.5
Itz ItI(1009) 2,142 2,395 1,957 2,300 18.3
A 01£(300g) 2,127 1,808 1,781 1,822 16.3
(302H) 22+8(110g) 1,008 982 866 1,018 14.9
Q&IXIZ=A(1000mI) 2,260 2,613 2,654 2,579 14.8
2 X1 24(1509) 2,245 2,461 2,484 2,602 13.7
ATI(60g) 1,752 1,909 2,021 1,951 13.3
o1 25 (355ml) 1,524 1,554 1,357 1,548 12.7
=1 Z(1000g) 6,603 6,764 6,904 6,051 12.4
A & (5009) 2,244 2,213 2,144 2,410 11.0
DE=Z(10009) 11,569 12,999 11,579 12,549 11.0
A Z=(360ml) 1,336 1,342 1,199 1,262 10.7
2 2(1000ml) 2,620 2,862 2,598 2,790 9.2
2HEH(900mI) 5,699 5,540 5,246 5,729 8.4
W = 0+ (10009) 10,222 10,182 9,380 10,051 8.2
2t (57H) 3,241 3,297 3,071 3,148 6.9
Xl Z(200g) 4,089 4,013 4,035 3,885 5.0
£ HI8 118,820 133,451 116,191 124,189 12.9

=) & 12K FpHAH%) = (2D - 2 AP/ FDIF x 100



